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6. Let $x be the cost of a bottle of water. 
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(b) Let E be a point on the circle such that DE is a 

diameter. 
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 Alternative 

Let O be the centre of the circle. 

2

90

COD DBC = 

= 
  

2 2 2

22 16

2 2

CO DO CD

r

r

+ =

=

=

  

The radius of the circle is 2 2 cm.   
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  (b) Let the height of the upper part circular cone be 

x cm. 
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Let the height of the frustum be y cm. 
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11.(a) In BAE and ADC, 
90CAD BAF +  =   (given) 

90ABE BAF +  =   (ext.  of ) 

CAD ABE =   
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90BAD ADC =  =   (given) 

  BAE  ADC (ASA) 
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 (b) ∵ There are 2 modes for the remaining data. 

∴ One of the deleted data must be 65kg. 
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∴ No, I do not agree. 
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16(a) 2OP PQ=  
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3: correct proof w/ reasons 
2: correct proof w/o reasons 
1: one line of correct proof 

3: correct proof w/ reasons 
2: correct proof w/o reasons 
1: one line of correct proof 
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  (b) Г is a circle. 

The greatest distance is the diameter. 

Let the radius be r. 
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c(ii) 2
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The mid-point of PQ = (0,0) 

And the mid-point of UV = (0,0) 

  and OP OQ OU OV = =  

PUQV  is a parallelogram. 

(diagonals bisect each other) 
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c(iii) When PUQV is a rectangle then it is a cyclic 

quadrilateral. i.e. QV⊥QU. 

PQ is a diameter and (0,0)  is the centre. 
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 c(iii) Alternative Method: 

 

When PUQV is a rectangle then it is a cyclic 

quadrilateral. i.e. QV⊥QU. 
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